

BID 23-07 TABULATION

W.F. Business Park Hammon Road Improvements (Project B)
 Wichita Falls Economic Development Corporation (4a)
 March 28, 2023

Bowles Construction Co.
 7001 Jacksboro Highway
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc.
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
1	1	LS	Mobilization, Insurance, & Bonding	\$138,000.00	\$138,000.00	\$120,000.00	\$120,000.00
2	2,300	LF	Furnish & Install 12" PVC (C-900) Pipe	\$95.00	\$218,500.00	\$131.00	\$301,300.00
3	125	LF	Furnish & Install Boring & Casing for a 12" Carrier Pipe	\$295.00	\$36,875.00	\$307.00	\$38,375.00
4	7	EA	Furnish & Install 12" Gate Valve & Box	\$5,000.00	\$35,000.00	\$4,000.00	\$28,000.00
5	1	EA	Furnish & Install 8" Gate Valve & Box	\$3,200.00	\$3,200.00	\$2,600.00	\$2,600.00
6	3	EA	Furnish & Install 6" Gate Valve & Box	\$2,400.00	\$7,200.00	\$2,200.00	\$6,600.00
7	5	EA	Furnish & Install Standard Fire Hydrant Assembly	\$7,000.00	\$35,000.00	\$6,400.00	\$32,000.00
8	1	LS	Furnish & Install 12" Main Connection-01	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00
9	1	LS	Furnish & Install 12" Main Connection-02	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00
10	1	LS	Furnish & Install 6" Main Connection	\$1,500.00	\$1,500.00	\$5,400.00	\$5,400.00
11	1	LS	Furnish & Install 6" Service Connection-A	\$1,500.00	\$1,500.00	\$6,100.00	\$6,100.00
12	1	LS	Furnish & Install 8" Service Connection-B	\$1,800.00	\$1,800.00	\$7,900.00	\$7,900.00
13	1	LS	Furnish & Install 6" Service Connection-C	\$6,000.00	\$6,000.00	\$6,500.00	\$6,500.00
14	1	LS	Furnish & Install 2" Service Connection-D	\$2,700.00	\$2,700.00	\$7,100.00	\$7,100.00
15	1	LS	Furnish & Install 2" Service Connection-E	\$2,700.00	\$2,700.00	\$7,900.00	\$7,900.00
16	2,250	LF	Abandon Existing 12" Water Main In-Place	\$12.00	\$27,000.00	\$6.50	\$14,625.00
17	200	LF	Abandon Existing 6" Water Main In-Place	\$12.00	\$2,400.00	\$6.50	\$1,300.00
18	3	EA	Salvage Abandoned Fire Hydrant Assembly	\$1,000.00	\$3,000.00	\$1,100.00	\$3,300.00
19	1	LS	Demolition & ROW Preparation for Pavement & Drainage Improvements	\$40,000.00	\$40,000.00	\$168,000.00	\$168,000.00
20	200	CY	Unclassified Excavation for Offsite Grass Lined Channel	\$15.00	\$3,000.00	\$15.00	\$3,000.00
21	2,900	CY	Unclassified Excavation for Pavement & Drainage Improvements	\$11.00	\$31,900.00	\$15.00	\$43,500.00
22	3,080	CY	Compacted Fill for Pavement Improvements	\$19.00	\$58,520.00	\$18.00	\$55,440.00
23	14,050	SY	Place, Mix, Compact, & Proof-Roll 8" Lime Stabilized Subgrade	\$12.50	\$175,625.00	\$20.00	\$281,000.00
24	1,100	SY	Place, Mix, Compact, & Proof-Roll 6" Lime Stabilized Subgrade	\$12.00	\$13,200.00	\$18.00	\$19,800.00
25	13,500	SY	Construct/Install 8" Reinforced Concrete Pavement with Monolithic Curb	\$87.00	\$1,174,500.00	\$79.58	\$1,074,330.00

W.F. Business Park Hammon Road Improvements (Project B)
 Wichita Falls Economic Development Corporation (4a)
 March 28, 2023

Bowles Construction Co.
 7001 Jacksboro Highway
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc.
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
26	300	SY	Construct/Install 6" Reinforced Concrete Pavement with Monolithic Curb	\$84.00	\$25,200.00	\$79.58	\$23,874.00
27	750	SY	Construct/Install 6" Reinforced Concrete Pavement without Monolithic Curb	\$82.00	\$61,500.00	\$78.00	\$58,500.00
28	700	SY	Construct/Install 6" Reinforced Concrete Drive Approach	\$82.00	\$57,400.00	\$78.00	\$54,600.00
29	150	SY	Construct/Install Reinforced Concrete Sidewalk	\$80.00	\$12,000.00	\$66.00	\$9,900.00
30	8	LF	Install 8' x 3' Reinforced Concrete Box Culvert	\$1,300.00	\$10,400.00	\$1,300.00	\$10,400.00
31	110	LF	Install 6' x 3' Reinforced Concrete Box Culvert	\$725.00	\$79,750.00	\$1,030.00	\$113,300.00
32	390	LF	Furnish & Install 36" RCP (Class III) Drainage Pipe	\$280.00	\$109,200.00	\$310.00	\$120,900.00
33	225	LF	Furnish & Install 30" RCP (Class III) Drainage Pipe	\$205.00	\$46,125.00	\$260.00	\$58,500.00
34	135	LF	Furnish & Install 21" RCP (Class III) Drainage Pipe	\$150.00	\$20,250.00	\$190.00	\$25,650.00
35	70	LF	Furnish & Install 18" RCP (Class III) Drainage Pipe	\$145.00	\$10,150.00	\$150.00	\$10,500.00
36	60	LF	Furnish & Install 12" RCP (Class III) Drainage Pipe	\$130.00	\$7,800.00	\$125.00	\$7,500.00
37	1	LS	Construct/Install Reinforced Concrete Drainage Structure A1	\$30,000.00	\$30,000.00	\$50,800.00	\$50,800.00
38	1	LS	Construct/Install Reinforced Concrete Drainage Structure A2	\$16,000.00	\$16,000.00	\$32,200.00	\$32,200.00
39	1	EA	Furnish & Install 18" Precast Headwall (TxDOT Safety End Treatment)	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00
40	2	EA	Furnish & Install 12" Precast Headwall (TxDOT Safety End Treatment)	\$2,000.00	\$4,000.00	\$3,700.00	\$7,400.00
41	2	EA	Construct/Install 10' Reinforced Concrete Curb Inlet	\$9,500.00	\$19,000.00	\$7,100.00	\$14,200.00
42	6	EA	Construct/Install 10' Reinforced Concrete Recessed Curb Inlet	\$10,600.00	\$63,600.00	\$7,100.00	\$42,600.00
43	1	EA	Furnish & Install 4' x 4' Precast Concrete Junction Box	\$7,000.00	\$7,000.00	\$5,700.00	\$5,700.00

W.F. Business Park Hammon Road Improvements (Project B)
 Wichita Falls Economic Development Corporation (4a)
 March 28, 2023

Bowles Construction Co.
 7001 Jacksboro Highway
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc.
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
44	1,150	SY	Final Grading & Re-Vegetation by Sodding	\$4.40	\$5,060.00	\$8.50	\$9,775.00
45	14,700	SY	Final Grading & Re-Vegetation by Hydromulching	\$4.80	\$70,560.00	\$1.70	\$24,990.00
46	3,000	SY	Furnish & Install Erosion Control Blankets	\$2.00	\$6,000.00	\$3.70	\$11,100.00
47	1	LS	Traffic Control Plan, Devices, and Structures to comply with (MUTCD)	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00
48	1	LS	Stormwater Pollution Prevention Plan (SWPPP), Erosion Control Methods, & Facilities/Structures	\$66,000.00	\$66,000.00	\$30,000.00	\$30,000.00
TOTAL AMOUNT OF BASE BID				\$2,769,615.00			\$2,995,459.00

ALTERNATE BID ITEMS:

1-A	125	LF	Furnish & Install Casing (Open-Cut) for a 12" Carrier Pipe (in-lieu of Bid Item No.3)	\$295.00	\$36,875.00	\$245.00	\$30,625.00
2-A	1	LS	Furnish & Install 6' Service Connection-C (in-lieu of Bid Item No.13)	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00
3-A	2,250	LF	Abandon Existing 12" Water Main In-Place (Demolish/Crush) (in-lieu of Bid Item No.16)	\$40.00	\$90,000.00	\$4.20	\$9,450.00
4-A	200	LF	Abandon Existing 6" Water Main In-Place (Demolish/Crush) (in-lieu of Bid Item No.17)	\$40.00	\$8,000.00	\$4.20	\$840.00

W.F. Business Park Hammon Road Improvements (Project B)
 Wichita Falls Economic Development Corporation (4a)
 March 28, 2023

MH Civil Constructors, Inc.
 621 SW Sixth Street
 Amarillo, TX 79101

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL
1	1	LS	Mobilization, Insurance, & Bonding	\$205,747.00	\$205,747.00
2	2,300	LF	Furnish & Install 12" PVC (C-900) Pipe	\$105.00	\$241,500.00
3	125	LF	Furnish & Install Boring & Casing for a 12" Carrier Pipe	\$547.00	\$68,375.00
4	7	EA	Furnish & Install 12" Gate Valve & Box	\$5,200.00	\$36,400.00
5	1	EA	Furnish & Install 8" Gate Valve & Box	\$3,300.00	\$3,300.00
6	3	EA	Furnish & Install 6" Gate Valve & Box	\$2,400.00	\$7,200.00
7	5	EA	Furnish & Install Standard Fire Hydrant Assembly	\$7,800.00	\$39,000.00
8	1	LS	Furnish & Install 12" Main Connection-01	\$6,500.00	\$6,500.00
9	1	LS	Furnish & Install 12" Main Connection-02	\$6,500.00	\$6,500.00
10	1	LS	Furnish & Install 6" Main Connection	\$3,300.00	\$3,300.00
11	1	LS	Furnish & Install 6" Service Connection-A	\$2,300.00	\$2,300.00
12	1	LS	Furnish & Install 8" Service Connection-B	\$2,800.00	\$2,800.00
13	1	LS	Furnish & Install 6" Service Connection-C	\$2,600.00	\$2,600.00
14	1	LS	Furnish & Install 2" Service Connection-D	\$4,200.00	\$4,200.00
15	1	LS	Furnish & Install 2" Service Connection-E	\$8,600.00	\$8,600.00
16	2,250	LF	Abandon Existing 12" Water Main In-Place	\$25.00	\$56,250.00
17	200	LF	Abandon Existing 6" Water Main In-Place	\$20.00	\$4,000.00
18	3	EA	Salvage Abandoned Fire Hydrant Assembly	\$1,000.00	\$3,000.00
19	1	LS	Demolition & ROW Preparation for Pavement & Drainage Improvements	\$250,000.00	\$250,000.00
20	200	CY	Unclassified Excavation for Offsite Grass Lined Channel	\$81.00	\$16,200.00
21	2,900	CY	Unclassified Excavation for Pavement & Drainage Improvements	\$85.00	\$246,500.00
22	3,080	CY	Compacted Fill for Pavement Improvements	\$112.00	\$344,960.00
23	14,050	SY	Place, Mix, Compact, & Proof-Roll 8" Lime Stabilized Subgrade	\$41.00	\$576,050.00
24	1,100	SY	Place, Mix, Compact, & Proof-Roll 6" Lime Stabilized Subgrade	\$38.00	\$41,800.00
25	13,500	SY	Construct/Install 8" Reinforced Concrete Pavement with Monolithic Curb	\$71.00	\$958,500.00

W.F. Business Park Hammon Road Improvements (Project B)
Wichita Falls Economic Development Corporation (4a)
March 28, 2023

MH Civil Constructors, Inc.
621 SW Sixth Street
Amarillo, TX 79101

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL
26	300	SY	Construct/Install 6" Reinforced Concrete Pavement with Monolithic Curb	\$54.00	\$16,200.00
27	750	SY	Construct/Install 6" Reinforced Concrete Pavement without Monolithic Curb	\$54.00	\$40,500.00
28	700	SY	Construct/Install 6" Reinforced Concrete Drive Approach	\$48.00	\$33,600.00
29	150	SY	Construct/Install Reinforced Concrete Sidewalk	\$48.00	\$7,200.00
30	8	LF	Install 8' x 3' Reinforced Concrete Box Culvert	\$956.00	\$7,648.00
31	110	LF	Install 6' x 3' Reinforced Concrete Box Culvert	\$766.00	\$84,260.00
32	390	LF	Furnish & Install 36" RCP (Class III) Drainage Pipe	\$304.00	\$118,560.00
33	225	LF	Furnish & Install 30" RCP (Class III) Drainage Pipe	\$243.00	\$54,675.00
34	135	LF	Furnish & Install 21" RCP (Class III) Drainage Pipe	\$167.00	\$22,545.00
35	70	LF	Furnish & Install 18" RCP (Class III) Drainage Pipe	\$157.00	\$10,990.00
36	60	LF	Furnish & Install 12" RCP (Class III) Drainage Pipe	\$139.00	\$8,340.00
37	1	LS	Construct/Install Reinforced Concrete Drainage Structure A1	\$65,000.00	\$65,000.00
38	1	LS	Construct/Install Reinforced Concrete Drainage Structure A2	\$61,000.00	\$61,000.00
39	1	EA	Furnish & Install 18" Precast Headwall (TxDOT Safety End Treatment)	\$19,000.00	\$19,000.00
40	2	EA	Furnish & Install 12" Precast Headwall (TxDOT Safety End Treatment)	\$17,000.00	\$34,000.00
41	2	EA	Construct/Install 10' Reinforced Concrete Curb Inlet	\$7,000.00	\$14,000.00
42	6	EA	Construct/Install 10' Reinforced Concrete Recessed Curb Inlet	\$7,000.00	\$42,000.00
43	1	EA	Furnish & Install 4' x 4' Precast Concrete Junction Box	\$8,000.00	\$8,000.00

W.F. Business Park Hammon Road Improvements (Project B)
Wichita Falls Economic Development Corporation (4a)
March 28, 2023

MH Civil Constructors, Inc.
621 SW Sixth Street
Amarillo, TX 79101

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL
44	1,150	SY	Final Grading & Re-Vegetation by Sodding	\$150.00	\$172,500.00
45	14,700	SY		\$7.00	\$102,900.00
			Final Grading & Re-Vegetation by Hydromulching		
46	3,000	SY	Furnish & Install Erosion Control Blankets	\$5.00	\$15,000.00
47	1	LS	Traffic Control Plan, Devices, and Structures to comply with (MUTCD)	\$120,000.00	\$120,000.00
48	1	LS	Stormwater Pollution Prevention Plan (SWPPP), Erosion Control Methods, & Facilities/Structures	\$3,500.00	\$3,500.00

TOTAL AMOUNT OF BASE BID **\$4,197,000.00**

ALTERNATE BID ITEMS:

1-A	125	LF	Furnish & Install Casing (Open-Cut) for a 12" Carrier Pipe (in-lieu of Bid Item No.3)	\$397.00	\$49,625.00
2-A	1	LS	Furnish & Install 6' Service Connection-C (in-lieu of Bid Item No.13)	\$2,600.00	\$2,600.00
3-A	2,250	LF	Abandon Existing 12" Water Main In-Place (Demolish/Crush) (in-lieu of Bid Item No.16)	\$22.00	\$49,500.00
4-A	200	LF	Abandon Existing 6" Water Main In-Place (Demolish/Crush) (in-lieu of Bid Item No.17)	\$18.00	\$3,600.00